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13. Three sisters, whose average age is 10, each have different ages. When
they get together in pairs, the average ages of two such pairs are 11 and
12. What is the age of the eldest sister?

11 12 14 16
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14. Talal the Gardener planted red tulips V and vellow daisies % In a square
flowerbedwithside-length 12 m, arranged as shown.

What is the total area of the regions in which he planted daisies?

48 m? 46 m? 44 me 40 m? 36 m?
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15. In my office, there are two clocks. One clock gains one minute every hour
and the other loses two minutes every hour. Yesterday | set them both
to the correct time but when | looked at them today, | saw that the time
shown on one was 11:00 and shown on the other was 12:00. What time

was it when | set the two clocks?

19:40 15:40 14:00 11:20
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16. Waleed wrote several positive nhumbers smaller than 7 on a piece of
paper. Rabab then crossed out all Waleed’s numbers and replaced each
of them with their difference from 7. The sum of Waleed’s nhumbers was
22. The sum of Rabab’s numbers is 34. How many numbers did Waleed

write down?

55
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48 105 28 144

17. The numbers from 1 to 8 are placed, once each, in the circles shown. The
numbers by the arrows show the products of the three numbers in the
circles on that straight line. What is the sum of the numbers in the three
circles at the bottom of the figure?

11 12 15 17 19
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18. The area of the intersection of a circle and a triangle is 45% of the area of
their union. The area of the triangle outside the circle is 40% of the area

of their union. what percentage of the area of the part of the circle which
lies outside the triangle from circle’s area?

20% 25% 30% 35% 50%







